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[notes on modelling cat semantics :

type - theoretic fibration categories
or categories w/ families
or cat 's arc attributes
one particular model :

model types as a -groupaids
Ccg Kan complexed

them paths will be d-cells
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St e is not in the image of
IT : A-B → Iso AB
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data 5 where
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base : S'

loop r
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base = base can show that

data Nat where
loop # refl

zero : Nat
sue = Not →Not

data List A where
nil : List at
cons : for cist A -2 ListA



data Sd where
base : Sl
loop : base = base
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4:
base . P

data Torus who e

base : Toras

p : base =base

q : base = base

it : p.gs g.bp

result : Tora, ← SIS
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